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Exercise 7.4

Question 1:
Write shaded portion as fraction. Arrange them in ascending and descending order using

correct sign ‘<’, >’, ‘=" between the fractions:

"BH P

(b)

on the number line. Put appropriate signs between the fractions

(c) Show and

o
(=N E
| oo
(=)W K

k) k)

given:

Sr—yd 3 1—6 8r—5
=~ |5, =l o, =] = I =
6D6 6D 6D6 6D6

£ Answer 1:

3641
a) —,—,—,—
(=) 8 8 88
Ascending order: 1 < 3 < i .
8 8 8
. + 1
Descending order: —>—>—>—
8 8 8 8
8436
(b] PPN
9999
Ascending order: 7 < i & v <—
9 9 9
Descending order: —>—> 4 >=
g & 8 B
(c) Number line . & : !
9 2 A 6 8
6 6 6 6
32 1—6 370 85
—>|= —<|= e —>|=
66 66 66 66

Question 2:
Compare the fractions and put an appropriate sign:

3 5 1 1 4 5 3 3
(a) EDE (b) ?DZ () gljg (d) ED?
. Answer 2:
35 1 1 4—5 33
(@ <= () —|<- CRMEE @ 2Bl
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Question 3:
Make five more each pairs and put appropriate signs.

€. Answer 3:
96 11 11 711 11— 9
a) —|>|— b) —|>|— c) —|<|—= d) —|<|— e) —|>|—
@SB ®Ee @l @ s @ g
Question 4:
Look at the figures and write ‘<’ or ">’ between the given pairs of fractions:
e —— i
] :
\
o 1 - 2
T R ——
k. £ ,
i
i— ST o
a) —| |- b) =| |= c) =| |-
@ L1 ) - [12 (9 5L15
6—3 39
d —| |- e) = |=
(@ <[5 (&) =L 1
Make five more such problems and solve them with your friends.
€. Answer 4:
11 32 22
a) —|<|— b) =[>|= c) =|>|—
(@ [ () S () 315
63 55
d) —|=|= e) —<|—-
(@ <=3 (&) [
Five more such problems:
1 3 2 3 3 4
a) —| [~ b) =| |[= c) = |-
(@ 1= () L5 (9 ;12
5 2 0 0
d = |= e) —| |-
@ =17 ORI
Solution:
1 3 2 3 3 4
(@ -[=12 0 Z[>12 (0 <[> 1=
2 6 2 5 4 6
5 2 0 0
(d) EE (e) TEIE
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Question 5:
How quickly can you do this? Fill appropriate sign (<, =, >):
1 1 2 3 3 2
2= b= = gy
(@ S w) S (9 13
3 2 3r—6 7 3
4 2] 12 o [ s s [N e
= (&) L3 0 L3
1 2 6 4 3 7
| I n = |2 N2l 1L
@ ;L12 L O
6 4 5 15
o 64 o 318
0 - L5 oo 2L
€. Answer 5:
1 1 2 3 3 2
@[> 1< ®) sL= 1= (9 [<13
3 2 3 6 7 3
@3 [>12 ORI @ zlE]s
1 2 6 4 3 7
= = B - iy = £J
@ ;=17 m [ <] 0 L<1e
6 4 5 15
. 6 4 a3 15
0 1 L=1s 09 2= 1>
Question 6:

The following fractions represent just three different numbers. Separate them into three
groups of equivalent fractions, by changing each one to its simplest form:

© o g Oz O W 05
€. Answer 6:
(GJ%% (0%% (g)%:é (h)gzé

Equivalent groups:

I group: é [(b), (£), (g)]

[l group: [(2), (e), (h), (4), (kJ]

1l group: = [(), (), @), Q)]
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Question 7:
Find answers to the following. Write and indicate how you solved them:

5 4 9 5
a)Is = equalto — ? b) Is — equalto = ?
(a) 5 4 - (b) Tha >
() Isgequal to% ? (d) lsllsequal to%?
€. Answer 7:

5 4
a) = and —
(J9 :

5«5 25 4x9 36
=— and =—
Ox5 45 5x9 45

[ L.C.M.of 9 and 5 is 45]

. 25 36
Since, —_——
45 45
Therefore, § * i
9 5

9 5
b) — and =
()I6 9

9x9 _ 81 . 5x16_ 80

= an = [~ L.C.M.of 16 and 9 is 144
16x9 144 9x16 144

. 81 80
Since, —F—
144 144
Therefore, —¢§
16 9
4 16
c¢) — and —
() 5 20

4x20 80 16x5 80
= and = il

5%20 100 20%5 100
80 _ 80
100 100

4_16

Therefore, —=
5 20

[ L.C.M.of 5 and 20 is 100]

Since,

1 4
d) — and —
(@) 35255

1x2 2 4x1 4
=— and =—
15%x2 30 30x1 30

[ L.C.M. of 15 and 30 is 30]

. 4 4
Since, —_—=—
30 30

Therefore, i = i
15 30
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Question 8:

Ila read 25 pages of a book containing 100 pages. Lalita read % of the same book. Who

read less?
€. Answer 8:
Ila read 25 pages out of 100 pages.

Fraction of reading the pages = L] = lz‘h part of book
100 4
Lalita read gth part of book = A, pages
5 100
Since 1 < 2
4 5

Therefore, Ila read less.

Question 9:
Rafiq exercised for % of an hour, while Rohit exercised for % of an hour. Who exercised

for a longer time?

#. Answer 9:

Rafiq exercised £ of an hour.
6
Rohit exercised % of an hour.
Since g > E
4 6

Therefore, Rohit exercised for a longer time.

Question 10:

In a class A of 25 students, 20 passed in first class; in another class B of 30 students, 24
passed in first class. In which class was a greater fraction of students getting first class?

€. Answer 10:
In class A, 20 passed out of 25, i.e,, 2 =

In class B, 24 passed out of 30, i.e,, 24 =

[ N S NN

Hence, each class have same fraction of student getting first class.
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